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»READ THE INSTRUCTIONS
CAREFULLY AND SHADE THE
CORRECT OPTION IN YOUR
SHEET.




Q1. Akitten weighs 2 kg. The weight of a cat iIs 6
times greater. What is the weight of the cat?
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10 kg
6 kg
12 kg
15 kg




Q2. 500 cm = m

5m
50 m
0.5m
500 m
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Q3. The weight of a soap Is measured In

A, Kg
B. Cm
C. @
D. m




Q4. Estimate the weight of your school
bag?

38 kg
38 cm
388 cm
3kg
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Q5. The weight of a postcard is about

5 kg
50
500 g
50 kg
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Q6. The weight of Tom’s birthday cake was half
of that of John. If John’s cake was 4 kg ,
what was the weight of Tom’s cake?

A, 2 Kg
B. 20
c. 20¢
D.

200 ¢



Q7. Awatermelon weighed 3kg. The

shopkeeper sold one third of I1t. How
much watermelon did he sell?

A. 100 g
3. 1Kkg
c. 100 kg
D. 3¢




Q8. A sack of sugar weighed 8kg. Half of it
was used up for a party. How much sugar
was left in the sack?

A. 40 ¢
5. 400 ¢
c. 4 kg
D. 4¢




Q9. The weight of a packet of butter Is
250 .

9
kg
cm
m
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Q10. A new born baby Is about 3 .

A, Kg
B. @
C. cm
D. m




» ANSWER KEY

\




Answers

1. C 5 A
2. A 7. B
3. C 5. C
4. D 9. A
5. B 10. A
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